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SINGAPORE CHINESE GIRLS’ SCHOOL

FIRST SEMESTRAL ASSESSMENT 209

| PRIMARY 5 EM 1/2
MATHEMATICS

BOOKLET A

15 Questions

24 Marks

Total Time For Bookleis AandB: 2 h 15 miﬁs

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO RO 5OC.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.



SINGAFPORE CHINESE GIRLS SCHOOL
FIRST SEMESTRAL ASSESSMENT 2007
MATHEMATICS

Mame : { Date : .
Class : Primary5S8Y/C/G/SE/P Time : 2 hr 15 min

Booklet A (20 marks)

Guestions 1 — 10 carry 1 mark each. Questions 11 — 15 carry 2 marks each.

For each question, 4 options are given. One of these i3 the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval in the Cplical Answer
Sheet (OAS).

1. b 4 520 386, the value of the digit b is
(1} 5x 100 (3) 5x 10000
(2) 5% 1000 (4) 5% 100 000
2. Fxpress 20 minittes as a fraction of 1 hour.
i 1
(1) - 3y -
{1, 5 (3} p
U 1 1
2 - 4 -
1<) 5 (4) 5
3. The highest common factor of 18 and 27 is
() © 3 3
2y 2 4 9
"t
= 1
is



4. Father weighs 71kg. | am 19kg highter than him. What is our total

mass?
{1y  b2ko {3) 123 kg
{2) 90Kkg {4} 132 kg

5. Ai Lee has a piece of string 3 m long. She uses 35 M of it to
parcel What is the maximum number of such parcels she can ti§?
(1) 5 3 38
) 7 {4) 10
N, 4 R ra
2.20¢2 T
1.552
. S h ”
A B
5. Beaker A has __more water than Beaker B.
(1y  505mt _ (3) 1505 mi
(2) 550 mt (4) 1550 mt
T—
im
7. inthe figure above, / mis
(1)  between 40° and 60° (3)  betwsen 120° and 146"

tl{vr

(2)  between 80° and 160° (4}  between 180° and 2107



10.

— L
T e F
L i
L. |

Figure C has ___

4y 1 (3)

(2) 2 {4)

3

4

lines of symmetry.

Chioe saves $156 and Rachel saves$50. What is the ratio of Chloe’s

savings to Rachel's savings?

(1) 3:10 (3)

Which of the following is not an equivalent ratio of 3 : 4 : 57

(1) 4:5:6 (3)

(2) 6:8:10 4)

The best estimate for 4 561 x 213 is
(1) 800 000 ' (3)

(2) 1000000 -4

9:12:15

12:16:20

1200 000



1Z. The cost of 6 simitar T-shirts is 396, Find the cost of @ such T-shirts.

(1) 354 {3) $144
(2 $84 {4y %1906
13. 180 girls were asked io name thei favourite maovie.

The table below represents their responses.

Movie Titie B Mumber ]
High School Musical 86

mat!idd i 7 )

Harry Po*&er 38 -

The Cheetah Girls -‘ ) 149

Which 2 movie titles have a difference of 48 in the number of
respensa’? ' '

{1) High School Musical and The Cheetah Girls
(2) The Cheetah Girls and Harry Potter

(3} High Schoo! Musical and Hary Potter

{4) Matilda and The Cheetan Gils

14.  How many right angles are there in this figure?

A

15, Sitiis 1o of her father's age now. Find the ratio of her father's age to

heir total age.
(1) 3110 {3) 10: 13

4
i 2) 16:3 @) 13:10
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MATHEMATICS

BOOKLET B
33 Questions

88 Marks

TFotal Tifie For Booklets A and B : 2 h 15 mins

D0 NOT OPEN THIS BOOKLET UNTIL YGU ARE- TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.
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Bookiet B { 30 marks)

Questions 16 — 25 carry 1 mark each. Questicns 26 — 35 carry 2 marks ach.

Write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. (10 marks}

16. 5400 = 5=0000 x5+ __ %5
Ans:
17. 67 +30=86—-(Fx10)=
Ans:
8. Jane had 54 sweets. She ate é of them. How many sweets did she
eat? |
Ans:

19.  Mrs Fan took 10 days to sew a dress. If she completed it on a
Thursday, on which day of the week did she start sewing the dress?

Ans:

Do not
write in
g
colummn.

]



20 4 cubes of edge b-om sach, are placed together o form the cuboid

shown below. What is the voiume of this cuboid 7
/——““7"_'"_5.i
|
!

[

Ans:

0
=)

24, Sally started to do her homework at 3.30pm. it tock her 1 %h o finish

her homework, What time did she finish doing her homework?

Ans: pim

29 In the diagram below, AD, BC and CE are straightTines. Find £ ADE.

N P
N .

p—
/ 85°
5 650
C D E
Ans; @
134
5

Do nat
wite 10
this
colunm.

N



23.  There are ~ faces in this solid.

Do not
write In
this
colurn.
Ans:
24, A piece of wire 72m longis cut into three pteces intheratioof3:2 : 4.
What is the length of the shortest piece?
Ans: _ m
25, Rachel and Anne shared 84 stickers in the ratio of 5 ; 7. How many
stickers did Anne get? :
Ans:
(D>
w[s 3
7



3

o

Cyestions 26 10 35 cary 5 arks each. Show your working cleatiy n the
space below each guestion and wnte your

answers in the spaces provided.
.

n
For cueshons which require unis, give your answers in the units stated.

' .2 ., . c s iy
26.  Atanikis 2 full. However it nas a capacity Ot 5460 mi. How much more

water can it contain? { Give your answer inlitres)

ANS.

S R e

27, Afactory nas 2854 rmale workers ang half as many female workers.
low many workers are there altogether

28, Each side of Square A 15 BCm. The area of Rectangle B is iwice ihe
area of Square A. What is the area of Rectangte B?

Ansi_ cm

e —— " ——— ———————

29.  The figure below is made up of 3 ic}/éﬁ’tit:a! squares. Find its perimeter.

T >
- /e

I
Aﬂi b
| L/MH o

[v-0]

Do not
writa in
s

colyrman.



a0, Su Jin bought a bag and a pais of shoes. She paid $70 for them. if the

baga cost 4 times as much as the pair of shees, how much did she pay
for ihe pair of shoes?

Ans: §

The graph below shows the number of people at a piay, My Fair Lady,
from Saturday to Tuesday. Study the graph and answer guestion 31.

My Fair Lady
it
'l
k1
|3
—
O
o}
z
Saturday Sunday Monday Tuesday
3. Find the total number of people who attended the play on Saturday,

Monday and Tuesday. Round off the answer to-the nearest thousand.

0o not
write in
this

cotumn




32, The figure below s 1o drawn t All lines are straight fines.

Cind £ &

p—

The figure Lelow is not drawn to scale. Find the sum of angle a and

angie b.

~an
O3

Co not
write in
this

colorsi.

I~
Ny

. N
ya -
b@ﬂ_,_ﬁ_g |

Ans:

24. - The ratio of the number of boys to the number of giris in a Chinese
fanguage tuition centre is 8 1 5. lf there are 48 boys, how many more
boys than girls are there in the Chinese fanguage tuition centre?

10

M
N



ICJ‘\

)

Cor every D apples ata stall, there were 3 oran

there were 4 cranges. rind
{ Give your answer in its simiples




SINGAPDRE CHINESE GIRLE SCHOOL
FIRST SEMESTE SESSMENT 2007

Mame : { Date:
Class : PR 5@’ JCIGIBETFP Time : 2 hr 15 min

Booklet B { 50 marks)

Write vour answers to guestions 36 to 48 in the space provided. For each
question, show your working clearly in the space provided.

The nurmber of marks available is shown in brackets ( ) atthe end of each
question or part question.

36.  Town A and Town B have a tolal of 82 000 people altogether. 1f 4000
people mave from Town B to Town A, Town B will have 3 times as
many people as Town A. How many neople were there in Town B at
first? '

Ans; (3 marks)

47 A box of cookies was shared equally among 28 boys. & of them gaée
all their cookies to the rest of the boys. As a result the rest of the boys
received 3 more cookies each. How many cookies were there inthe

box at first?

00 not
write in
this

column
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28, A picture measuring 35 by 28cmis mounied on a rectangular Do Aot
cardboard, leaving a margin of 3cm At around. Find the area of the. e o
cardboard that is not covered by the picture. colun.

Ans: ' 3 marks) |

19, The figure below is made up of 5 identical squarés.4f the area of ihe
figure is 180cm?, find its perimeter..




40, Sraw 2 more unit shapes to tessellate. (3 marks)

41.  Adining table and 6 chairs cost $63
table to the price of the chair is 3 © 1. What is the costof a dining table

e

and 4 chairs?

N
il & E . > <
w o = S -
- & S - Y

. -
a ]
@ o
- =
[=] L3
£ L
R *
2l o=

( 3 marks)

C. Therat

Ans :

e ratio of the price of the

1% O

(3 marks)

14

2o not
wrile in
this

colurmn.

L




42 The number of people participating in a marathon is between 32 and } Do ot
60, If the competitors get into groups of 6. there will be remainder af 2. | woew
Of 4. HO‘-‘»" !Tl'a:".y % colurmn.

if iney get iInlo groups of 8, there wili be a remainaer

people are there in the marathon?

Ans: (




The graph below shows the eamings of Mr Lim over a S-month period. | Do rot
write 1

I : R . i
column,

0 800 1600 2400 3200 4000 4820
Amount { dellars)
(a) Find his total earnings for 5 monins.
1S

The ratio of his eaming in to his earning in

(&)
5.0.

16

I




44 (a)

AB and CD are straight lines. Find £ £

/
0

o

~ VCD is a night angle. £ ECD s twice the size of £ VCE. Find
< VCE.

v

E
r D
Ane: (a) (2 marks )
(b) ( 2 marks)
[
17

Do not
wrife in

this




i i
sother made 60 cupcakes. She kept = of them and gave m of the

2

remainder to her fAend,

L1
i

(a) What fraction of the cupcakes had she leil’
(0 In addition to what was left, she decided to make another 20

cupcakes and sold them at 5 for $3. How much did she coliect
from the sale? '

Ans (&) (2 marks)

{b) {3 marks)

134

18

Do not
witte in
this

colurnn



L.

o - of iricia

‘s peads. When Ja

3

3
3

s

of Jane’s beads is gy

1
- of her beads to Pat, who has na Leads at an,

hoads to Pat's beads s 3 1. i the 3 ¢
how many beads does Tricia have?

ANs:
13 K

n

oot
av: Li

[4V]

4 the ratio of Tricia's

M

airis have 896 beads aitogether,

16

D not
wile m
this

ConuTnn,



Lan

=~

In the figure, Jand K are squares and L is a right-angled |
The areas of Jand K

area of LY

are 8iom? and 25cm? respectivaly.

Ans:

(5 marks)

i'})é

20

Do not
write in
fins

column,



48.

i%a/

Anna gets $4 jess pockst inonsy than wim each week. Thay cach
speng $16 per week and save ihe rost, When Him saves $63, Anna
only saves $35. How much pocket money does Kim get each week?

Ans:

- (5 marks)

CHECY YOUR WORR CAREFULLY

21

Do not
wrile in
this

column,



16.
iR
26.

24.

26.

28.

29,

Qr Q2 Q3 ’ 01 05
B 4 2 i 3 3
Q6 Q7 Q Q9 010
2 i 4 i 1
Q11 (12 QI3 Q1 Q15
1. 3 2 3
400 17. 2
6 19, Tuesday
600 21, 4.530pm
158° 23. 9
16m 25. 49
2 5
1 - 5 = =
7 7
5
5 x 5460 = 3900ml
= 3.5
2854
L = 1427
2

1427 + 2854 = 4281 workers

9 x 2= 81
81 x 2 = 162¢ew?

10 x 8cm = &lcm

Page | of 4



31.

34,

¥}
541

G
&M

37.

950 + 850 + 808 = 160

= 3060
3600 — 165° - 66° = 105°
a = 360° - 60° = 389°

b = 306
a + b= 3060 x 2 = 608°

Bu = 4§
in = 6
3m = 3 x6

18
A 0 O {3 ¥
5 : 3 4 2
4 x4 x3 x3
26 12 i2 6
A P O
i & « 12
1 3 @ 6

828060 — 16060 = 666060
G600 < 4 = 16500
Atfirst ——p 16560 x 3 =
4009 x 4 = 16600

49580 + 16000 = 65508

28 - 6 = 22
22 x3 = 66
66 — 6 = 11
28 = 13 = 308 cookies

493584

Page2 of 4



Lt
2.

39

40.

42.

43z.

43b.

Lengih of rectangie =35+ 3 + 3 = diem
lreadih of rectangle = 3dem '
Pioture = 35 x 28

= 98%em’
Hectanghe = 41 x 34

= 13%4em®
Mot recovered = 1394 — 580

= 4ldem”

Area of each sqnare = 18¢ + 5 = 36

6 x O = 3em?
Perimeter = ¢ 3 12 = T2em

1 table = 3u

1 chair = iu

1 table + b chairs = Su

Sn = 5630

in = 570

T iable + 4 chair = Tu

Ta =7 x §78%

= $49%0

People Groaps ol 6 {roups oi 3
40 4 - 6= 6 rd 40 = 8 =5
45 45 ~ 6 =7 13 45 — § =515
4 . 44 + 6 =7r2 4+ 5=5r4

Total = 1600 + 2400 + 4360 + 4000 + 3200
516060
July and Jone

Il

oy
i

Page3 o

check
X

"



sdeda, 185° -~ §3°

34h, 9 - 3 3
SV = 380

[

1]
da
e
g

[s]

1
1
-]

s

!

154 i— =
§) 0
Lo 9
00 16
9 5 3
R X — = —
0 6 4

She had JI of the cupeakes left.
£

ASh. D x 60 = 45
b
45 + 20 = 65
65 = 5 = 13
13 % $3 — $39

She collected $39 fiom the sale,

40, Is = 896 -x 16 = 356
éu = 56 x & = 336

47. x/gi = vO9x9 = %%m

w/ég = /5%5 = Sem

— x4 % 5= 10em?

The area of L is 10cm”

48.  $63 = §35 = 528
828 + 84 = 7 weeks
%63 x 7 = 359
39 + $i6 = 525
Kim gets $25 each week.

Page 4 of 4



